HW - BALANCING EQUATIONS

Name___________________


I.  Give the formula for the following:

_________________ 1.  oxygen



________________ 9.  fluorine

_________________ 2.  mercury(II) oxide


________________ 10.  nitrogen dioxide

_________________ 3.  carbon monoxide


________________ 11.  chromium(III) sulfate

_________________ 4.  carbon



________________ 12.  boron trichloride

_________________ 5.  ammonium phosphate

________________ 13.  boron

_________________ 6.  magnesium sulfide


________________ 14.  copper(II) sulfate

_________________ 7.  calcium chloride


________________ 15.  copper

_________________ 8.  iron



________________ 16.  *  sulfuric acid

II.  Balance the following:

1)  ____ MgBr2 + ____ Cl2 ( ____ MgCl2 + ____ Br2
2)  ____ Na + ____O2 (  ____ Na2O


3)  ____ HgS (  ____ Hg + ____ S8

4)  ____ KOH + ____ H3PO4 ( ____ K3PO4 + ____ H2O
5)  ____ H3PO4 + ____ Mg(OH)2 ( ____ Mg3(PO4)2 + ____ H2O
6)  _____ Li + _____ H2SO4 (  _____ Li2SO4 + ____ H2
7)  _____ Na + _____ Cl2 ( _____ NaCl

8)  _____ KClO3 (  _____ KCl + _____ O2


9)  _____ Al(NO3)3 + _____ NaOH (  _____ Al(OH)3 + _____ NaNO3
10)  _____ C3H8 + _____ O2 (  _____ CO2 + _____ H2O
11)  _____ N2 + _____ O2 ( _____ N2O3
12)  _____ HClO3 ( _____ ClO2 + _____ O2 + _____ H2O
13)  _____ C2H2 + _____ O2 ( _____ CO2 + _____ H2O
14)  ____ KNO3 ( ____ KNO2 + ____ O2
15)  ____ Na + ____ H2O ( ____ NaOH + ____ H2
16)  titanium + nitrogen ( titanium(IV) nitride

17)  fluorine + sodium chloride ( sodium fluoride + chlorine

18)  calcium hydroxide decomposes to form calcium oxide and water.

19)  Ethylene (C2H4) combusts with oxygen to form carbon dioxide and water.

20)  potassium hydroxide reacts with phosphoric acid to form potassium phosphate and water.


